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Write the equation of the parabola that passes
through (2, -1) and has a maximum at (-3, 4).

Y=-Y% () ¥y
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Write the equation of the parabola that
has x-intercepts of (-2, 0) and (5, 0) and a
y-intercept of (0, -8).

Y= Yo (i)
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Simplify.
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Mrs. Long fit a parabola to the stream of
water from this drinking fountain.

Write the equation of the parabola in all
three forms.

(orror. - RG-2rE)  FHEEL )
Stondard: Y=Y (- )+ f"ﬁt (x-ﬂ(f@
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Given f(x)=x"+8x+17

a. Find the discriminant to termme the
number of x-intqrcepts. -'—T
o{mg

b. Graph f(x) >

| ,
c. Solve x*+8x+17=0 x=-Y£i|

d. Show the solution set of y < x* +8x+17




October 03, 2016

Graph. Label key features.

f(x)=3x*+12x-8
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Factor and solve the inequality.

a. 3x*+4x-3220

(3 m -I—t-B X{'(“DO/_\BOBS;@
X -
x-int (‘/3,0) " 74&—7

(-4,0)
b. 9x*—15x<6
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f(x)=6x*+10x—4

2
| | £(x)= 2 (x ¥ 2)
Factor to find the x mtercepts.&u)_’ 7 (3)”}‘[”2-)
xaat- (15,0 )220)

Complete the square to write in vertex form.

Y
F0)=b{s3xie) 4
Solv 6x*+10x—4=0 b&’;’ig *
- 2 L1 - Q
X=4 /6x +10x—4;0 HX)?—b(;ug)-'l%

S: ;’ y<6x‘+10x+4 | .
2

3

Xelw, V(s 00) |
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